

# Неопределенный интегралы 13.02.20

$$\int f(x) = F(x) + c$$

F - первообразная функция функции f

$$F'(x) = f(x)$$

$$\int c \cdot f(x) \cdot dx = c \cdot \int f(x) \cdot dx$$

$$\int (f(x) \pm g(x)) dx = \int f(x) \cdot dx \pm \int g(x) \cdot dx$$

Таблица основных интегралов

$$\int dx = x + c$$

$$\int x^n dx = \frac{x^{n+1}}{n+1} + c$$

$$\int \frac{1}{x} \cdot dx = \ln|x| + c$$

$$\int e^x \cdot dx = e^x + c$$

$$\int a^x \cdot dx = \frac{a^x}{\ln a} + c$$

$$\int \sin x \cdot dx = -\cos x + c$$

$$\int \cos x \cdot dx = \sin x + c$$

$$\int \frac{dx}{\cos^2 x} = \operatorname{tg} x + c$$

$$\int \frac{dx}{\sin^2 x} = -\operatorname{ctg} x + c$$

$$\int \frac{dx}{1+x^2} = \operatorname{arctg} x + c$$

$$\int \frac{dx}{1-x^2} = \frac{1}{2} \ln \left| \frac{1-x}{1+x} \right| + c$$

W



$$\int \frac{dx}{\sqrt{1-x^2}} = \arcsin x + C$$

$$\int \frac{dx}{\sqrt{x^2 \pm 1}} = \ln |x + \sqrt{x^2 \pm 1}| + C$$

Декомпозиција

$$1) \int (1-x)(1-2x)(1-3x) \cdot dx =$$

$$\int (1-3x+2x^2)(1-3x) dx =$$

$$\int (1-3x-3x+9x^2+2x^2-6x^3) \cdot dx$$

$$\int dx - 6 \int x \cdot dx + 11 \int x^2 \cdot dx - 6 \int x^3 \cdot dx$$

$$= x - 6 \cdot \frac{x^2}{2} + 11 \cdot \frac{x^3}{3} - 6 \cdot \frac{x^4}{4} + C$$

$$2) \int \frac{\sqrt{x} - 2\sqrt[3]{x^2+1}}{\sqrt[4]{x}} \cdot dx = \int \left( \frac{x^{\frac{1}{2}}}{x^{\frac{1}{4}}} - 2 \cdot \frac{x^{\frac{2}{3}}}{x^{\frac{1}{4}}} + \frac{1}{x^{\frac{1}{4}}} \right) \cdot dx$$

$$= \int x^{\frac{1}{4}} dx - 2 \int x^{\frac{5}{12}} dx + \int x^{-\frac{1}{4}} dx =$$

$$= \frac{x^{\frac{5}{4}}}{\frac{5}{4}} - 2 \cdot \frac{x^{\frac{17}{12}}}{\frac{17}{12}} + \frac{x^{\frac{3}{4}}}{\frac{3}{4}} + C$$

$$= \frac{4}{5} \cdot \sqrt[4]{x^5} - \frac{24}{17} \cdot \sqrt[12]{x^{17}} + \frac{4}{3} \cdot \sqrt[4]{x^3} + C$$



$$3.) \int \left(3\sqrt{x} + \frac{2}{x}\right)^2 \cdot dx = \int \left(9x + 24 \cdot \frac{\sqrt{x}}{x} + \frac{4}{x^2}\right) \cdot dx =$$

$$= \int 9x \cdot dx + 24 \int x^{-\frac{1}{2}} dx + 4 \cdot \int x^{-2} \cdot dx =$$

$$= 9 \cdot \frac{x^2}{2} + 24 \cdot 2 \cdot \sqrt{x} + 4 \cdot \left(-\frac{1}{x}\right) + C$$

$$4.) \int \left(\frac{1}{\sqrt[3]{x^5}} + \sin x\right) dx = \int x^{-\frac{5}{3}} dx + \int \sin x \cdot dx =$$

$$= -\frac{3}{2} \cdot \frac{1}{\sqrt[3]{x^2}} + (-\cos x) + C$$

$$5.) \int \frac{x^2}{1+x^2} = \int \frac{1+x^2-1}{1+x^2} dx = \int \left(1 - \frac{1}{1+x^2}\right) \cdot dx =$$

$$= \int dx - \int \frac{dx}{1+x^2} = x - \arctan x + C$$

$$6.) \int \frac{x^3+x-2}{x^2+1} \cdot dx = \int \left(x - \frac{2}{x^2+1}\right) \cdot dx = \int x dx - 2 \int \frac{dx}{x^2+1}$$

$$= \frac{x^2}{2} - 2 \arctan x + C$$

$$(x^3+x-2) : (x^2+1) = x$$

$$\underline{x^3+x}$$

$$-2$$

$$x^3+x-2 = x(x^2+1)-2$$

$$\frac{x^3+x-2}{x^2+1} = x - \frac{2}{x^2+1}$$

$$2 \cdot \frac{\left(\frac{1}{5}\right)^x}{\ln \frac{1}{5}} - \frac{1}{5} \cdot \frac{\left(\frac{1}{2}\right)^x}{\ln \frac{1}{2}} + C =$$

$$= 2 \cdot \frac{\left(\frac{1}{5}\right)^x}{\ln 5^{-1}} - \frac{1}{5} \cdot \frac{\left(\frac{1}{2}\right)^x}{\ln 2^{-1}} + C =$$

$$= -2 \frac{\left(\frac{1}{5}\right)^x}{\ln 5} + \frac{1}{5} \frac{\left(\frac{1}{2}\right)^x}{\ln 2}$$

$$7.) \int \frac{2^{x+1} - 5^{x-1}}{10^x} \cdot dx = \int \frac{2 \cdot 2^x}{10^x} \cdot dx - \int \frac{5^x}{5 \cdot 10^x} \cdot dx =$$

$$= 2 \int \left(\frac{2}{10}\right)^x dx - \frac{1}{5} \int \left(\frac{5}{10}\right)^x \cdot dx = 2 \int \left(\frac{1}{5}\right)^x \cdot dx - \frac{1}{5} \int \left(\frac{1}{2}\right)^x \cdot dx$$



17 ellettőga ügyelő

$$\begin{aligned} 8.) \int \operatorname{tg}^2 x \, dx &= \int \frac{\sin^2 x}{\cos^2 x} \cdot dx = \int \frac{1 - \cos^2 x}{\cos^2 x} \cdot dx = \\ &= \int \frac{1}{\cos^2 x} \cdot dx - \int dx = \operatorname{tg} x - x + c \end{aligned}$$

$$\begin{aligned} 1.) \int \frac{x}{x^2+a} \, dx &= \begin{array}{l} \sqrt{x^2+a} = t \\ 2x \cdot dx = dt \\ x \, dx = \frac{1}{2} dt \end{array} \\ &= \frac{1}{2} \int \frac{dt}{t} = \frac{1}{2} \ln |t| + c = \\ &= \frac{1}{2} \ln |x^2+a| + c \end{aligned}$$

$$\begin{aligned} 2.) \int \sin 2x \, dx &= \begin{array}{l} \sqrt{2x} = t \\ 2 \, dx = dt \\ dx = \frac{1}{2} dt \end{array} \\ &= \frac{1}{2} \int -\sin t \, dt = \\ &= \frac{1}{2} (-\cos t) + c = -\frac{1}{2} \cos 2x + c \end{aligned}$$

$$\begin{aligned} 3.) \int \frac{dx}{3-x} &= \begin{array}{l} \sqrt{3-x} = t \\ -dx = dt \\ dx = -dt \end{array} = - \int \frac{dt}{t} = \end{aligned}$$



$$= \ln|t| + C = -\ln|3-x| + C$$

$$4) \int \frac{5}{(x-4)^4} dx = \left[ \begin{array}{l} x-4=t \\ dx=dt \end{array} \right] \quad 1-\frac{1}{5} = \frac{4}{5}$$

$$= 5 \int \frac{dt}{t^4} = 5 \cdot \int t^{-4} dt = 5 \cdot \frac{t^{-3}}{-3} + C =$$

$$= -\frac{5}{3} \cdot \frac{1}{t^3} + C = -\frac{5}{3} \cdot \frac{1}{(x-4)^3} + C$$

$$5) \int \frac{x+5}{\sqrt[5]{1-2x}} dx = \int \left[ \begin{array}{l} 1-2x=t \\ -2dx=dt \\ dx=-\frac{1}{2}dt \end{array} \right] \quad 5x = \frac{1-t}{2}$$

$$= \frac{1}{2} \int \frac{\frac{1-t}{2} + 5}{\sqrt[5]{t}} dt = \frac{1}{2} \int \frac{11-t}{2 \cdot \sqrt[5]{t}} dt = -\frac{1}{5}$$

$$= \frac{11}{4} \int t^{-\frac{1}{5}} dt + \frac{1}{4} \int t^{\frac{4}{5}} dt =$$

$$= \frac{11}{4} \cdot \frac{5}{4} \cdot \sqrt[5]{t^4} + \frac{1}{4} \cdot \frac{5}{9} \cdot \sqrt[5]{t^9} + C$$

$$\begin{aligned} + \frac{3}{2} \lambda^2 - t^2 \\ \sqrt{\frac{3}{2}} \lambda = t \end{aligned}$$

$$= \frac{55}{16} \cdot \sqrt[5]{(1-2x)^4} + \frac{5}{36} \cdot \sqrt[5]{(1-2x)^9} + C$$

$$6) \int \frac{dx}{2+3x^2} = \int \frac{dx}{2(1+\frac{3}{2}x^2)} = \frac{1}{2} \int \frac{dx}{1+\frac{3}{2}x^2} = \sqrt{\frac{3}{2}} dx = dt$$

$$dx = \sqrt{\frac{2}{3}} dt$$

$$\frac{1}{2} \cdot \sqrt{\frac{2}{3}} \cdot \int \frac{dt}{1+t^2} = \frac{1}{\sqrt{6}} \cdot \arctan t + C =$$

$$= \frac{1}{\sqrt{6}} \cdot \arctan \sqrt{\frac{3}{2}} x + C$$



$$\int \frac{dx}{2+3x^2} = \sqrt{3}x = \sqrt{2}t$$

$$dx = \sqrt{\frac{2}{3}} dt$$

$$* 3x^2 = 2t^2$$

$$\sqrt{3}x = \sqrt{2}t$$

$$\sqrt{\frac{3}{2}}x = t$$

$$\sqrt{\frac{2}{3}} \int \frac{dt}{2+2t^2} = \frac{1}{\sqrt{6}} \int \frac{dt}{1+t^2} =$$

$$= \frac{1}{\sqrt{6}} \cdot \operatorname{arctg} t + c = \frac{1}{\sqrt{6}} \cdot \operatorname{arctg} \left( \sqrt{\frac{3}{2}}x \right) + c$$

$$\int \frac{dx}{\sqrt{3-5x^2}} = \int \frac{dx}{\sqrt{3\left(1-\frac{5}{3}x^2\right)}} =$$

$$= \frac{1}{\sqrt{3}} \int \frac{dx}{\sqrt{1-\frac{5}{3}x^2}} = \sqrt{\frac{5}{3}}x = t$$

$$dx = \sqrt{\frac{3}{5}} dt$$

$$= \frac{1}{\sqrt{3}} \int \frac{\sqrt{\frac{3}{5}} dt}{\sqrt{1-t^2}} = \frac{1}{\sqrt{5}} \int \frac{dt}{\sqrt{1-t^2}} =$$

$$= \frac{1}{\sqrt{5}} \cdot \operatorname{arcsin} t + c = \frac{1}{\sqrt{5}} \operatorname{arcsin} \left( \sqrt{\frac{5}{3}}x \right) + c$$

$$\int \operatorname{ctg} x dx = \int \frac{\cos x}{\sin x} dx = \int \frac{dx}{\sin x} = t$$

$$\cos x dx = dt$$

$$= \int \frac{dt}{t} = \ln|t| + c = \ln|\sin x| + c$$

$$\int \frac{dx}{\sqrt{1-x^2}} = \operatorname{arcsin} x$$

$$\int \frac{dt}{\sqrt{1-t^2}} = \operatorname{arcsin} t$$



11.0.11

$$9.) \int \frac{dx}{1+\sin x} = \int \frac{dx}{1+\cos(\frac{\pi}{2}-x)} = \left. \begin{array}{l} \sqrt{\frac{\pi}{2}-x}=t \\ -dx=dt \\ dx=-dt \end{array} \right\} =$$

$$= - \int \frac{dt}{1+\cos t} = - \int \frac{dt}{1+\cos^2 \frac{t}{2} - \sin^2 \frac{t}{2}} =$$

$$= - \frac{1}{2} \int \frac{dt}{\cos^2 \frac{t}{2}} = \left. \begin{array}{l} \sqrt{\frac{t}{2}}=z \\ \frac{1}{2} dt = dz \\ dt = 2 \cdot dz \end{array} \right\}$$

$$= - \frac{1}{2} \cdot 2 \int \frac{dz}{\cos^2 z} =$$

$$= - \frac{1}{2} \cdot 2 \cdot \text{tg } z + C = - \frac{1}{2} \cdot 2 \cdot \text{tg } \frac{t}{2} + C =$$

$$= - \text{tg} \left( \frac{\pi}{4} - \frac{x}{2} \right) + C$$

$$10.) \int \frac{dx}{\sin^2 x \cos^2 x} = \int \frac{dx}{(\sin x \cdot \cos x)^2} = \int \frac{dx}{(\underbrace{2 \cdot \sin x \cdot \cos x}_{\sin 2x} \cdot \frac{1}{2})^2} =$$

$$4 \cdot \int \frac{dx}{(\sin 2x)^2} = 4 \cdot \int \frac{dx}{\sin^2 2x} = 4 \cdot \frac{1}{2} \cdot (-\text{ctg } 2x) + C =$$

$$= -4 \cdot \frac{1}{2} \cdot \text{ctg } 2x + C = -2 \text{ctg } 2x + C$$

$$11.) \int \frac{\ln^2 x}{x} \cdot dx = \left. \begin{array}{l} \sqrt{\ln x}=t \\ \frac{1}{x} dx = dt \end{array} \right\} =$$

высота  
 $2x = t$   
 $-2dx = dt$   
 $dx = -\frac{dt}{2}$

$$= \int t^2 \cdot dt = \frac{t^3}{3} + C = \frac{\ln^3 x}{3} + C$$

(5)



$$\int \frac{\cos x}{\sqrt[3]{\sin^2 x}} \cdot dx = \left. \begin{array}{l} \sin x = t \\ \cos x \, dx = dt \end{array} \right\} =$$

$$\int \frac{dt}{\sqrt[3]{t^2}} = \int t^{-\frac{2}{3}} dt = 3 \cdot t^{\frac{1}{3}} + C =$$

$$= 3 \cdot \sqrt[3]{\sin x} + C$$

$$\int \sqrt{\frac{\ln(x + \sqrt{1+x^2})}{1+x^2}} \cdot dx = \left. \begin{array}{l} \ln(x + \sqrt{1+x^2}) = t \\ \frac{1}{x + \sqrt{1+x^2}} \left(1 + \frac{1}{2\sqrt{1+x^2}} \cdot 2x\right) dx = dt \end{array} \right\} =$$

$$\frac{1}{x + \sqrt{1+x^2}} \cdot \frac{\sqrt{1+x^2} + x}{\sqrt{1+x^2}} dx = dt$$

$$\int \sqrt{t} \, dt = \int t^{\frac{1}{2}} \cdot dt = \frac{dx}{\sqrt{1+x^2}} = dt$$

$$= \frac{2}{3} \cdot \sqrt{t^3} + C = \frac{2}{3} \sqrt{\ln^3(x + \sqrt{1+x^2})} + C$$

$$\int \frac{e^{\arcsin x} + x + 1}{\sqrt{1-x^2}} dx =$$

$$= \int \frac{e^{\arcsin x}}{\sqrt{1-x^2}} dx + \int \frac{x}{\sqrt{1-x^2}} dx + \int \frac{1}{\sqrt{1-x^2}} dx =$$

$$= \left. \begin{array}{l} \text{I} \quad \arcsin x = t \\ \text{II} \quad \sqrt{1-x^2} = z \end{array} \right\}$$

$$\frac{dx}{\sqrt{1-x^2}} = dt$$

$$-2x \, dx = dz$$

$$x \, dx = -\frac{1}{2} dz$$



$$= \int e^t dt - \frac{1}{2} \int \frac{dz}{\sqrt{z}} + \arcsin x =$$

$$= e^t - \frac{1}{2} \cdot 2 \cdot \sqrt{z} + \arcsin x + C =$$

$$= e^{\arcsin x} - \frac{1}{2} \cdot 2 \cdot \sqrt{1-x^2} + \arcsin x + C$$

$$= e^{\arcsin x} - \sqrt{1-x^2} + \arcsin x + C$$

Парзуйанна нунетрагуфа

$$\int u \cdot dv = u \cdot v - \int v \cdot du !$$

$$\textcircled{1} \int x \cdot e^x \cdot dx = \begin{array}{l} \Gamma u = x \Rightarrow du = dx \\ dv = e^x \cdot dx \\ v = \int e^x dx = e^x \end{array}$$

$$x \cdot e^x - \int e^x \cdot dx = x \cdot e^x - e^x + C = \\ = e^x (x - 1) + C$$

$$\textcircled{2} \int x \cdot \sin x \cdot dx = \begin{array}{l} \Gamma u = x \Rightarrow du = dx \\ dv = \sin x \cdot dx \Rightarrow v = \int \sin x dx = \\ = -\cos x \end{array}$$

$$= -x \cdot \cos x - \int (-\cos x) \cdot dx =$$



$$-x \cdot \cos x + \int \cos x dx =$$

$$= -x \cdot \cos x + \sin x + C$$

$$3.) \int \ln x dx = \left. \begin{array}{l} \Gamma u = \ln x \Rightarrow du = \frac{1}{x} dx \\ dv = dx \Rightarrow v = \int dx = x \end{array} \right\}$$

$$= x \cdot \ln x - \int x \cdot \frac{1}{x} dx = x \cdot \ln x - \int dx =$$

$$= x \cdot \ln x - x + C = x(\ln x - 1) + C$$

$$4.) \int x^2 \cdot \sin 2x dx = \left. \begin{array}{l} \Gamma u = x^2 \Rightarrow du = 2x dx \\ dv = \sin 2x dx \Rightarrow v = \int \sin 2x dx = \\ = -\frac{1}{2} \cos 2x \end{array} \right\}$$

$$= -\frac{x^2}{2} \cdot \cos 2x + \int x \cdot \cos 2x dx =$$

$$= \left. \begin{array}{l} \Gamma u = x \Rightarrow du = dx \\ dv = \cos 2x dx \Rightarrow v = \int \cos 2x dx = \frac{1}{2} \sin 2x \end{array} \right\}$$

$$= \frac{1}{2} \sin 2x$$

$$= -\frac{x^2}{2} \cdot \cos 2x + \frac{x}{2} \sin 2x - \frac{1}{2} \int \sin 2x dx =$$

$$= -\frac{x^2}{2} \cdot \cos 2x + \frac{x}{2} \sin 2x - \frac{1}{2} \cdot \left(-\frac{1}{2} \cos 2x\right) + C =$$

$$= -\frac{x^2}{2} \cos 2x + \frac{x}{2} \sin 2x + \frac{1}{4} \cos 2x + C$$

$$5.) \int \sqrt{x} \cdot \ln^2 x \cdot dx = \left. \begin{array}{l} \Gamma u = \ln^2 x \Rightarrow du = 2 \cdot \ln x \cdot \frac{1}{x} dx \\ dv = \sqrt{x} dx \Rightarrow v = \int \sqrt{x} dx = \frac{2}{3} \cdot \sqrt{x^3} \end{array} \right\}$$



$$= \frac{2}{3} \cdot \sqrt{x^3} \cdot \ln^2 x - \frac{4}{3} \int \sqrt{x} \ln x \, dx =$$

$$= \left[ u = \ln x \Rightarrow du = \frac{1}{x} \cdot dx \right. \\ \left. dv = \sqrt{x} \cdot dx \Rightarrow v = \int \sqrt{x} \cdot dx = \frac{2}{3} \cdot \sqrt{x^3} \right]$$

$$= \frac{2}{3} \sqrt{x^3} \cdot \ln^2 x - \frac{4}{3} \left( \frac{2}{3} \sqrt{x^3} \cdot \ln x - \frac{2}{3} \int \sqrt{x} \, dx \right) =$$

$$= \frac{2}{3} \cdot \sqrt{x^3} \cdot \ln^2 x - \frac{8}{9} \sqrt{x^3} \cdot \ln x + \frac{8}{9} \int \sqrt{x} \, dx =$$

$$= \frac{2}{3} \cdot \sqrt{x^3} \cdot \ln^2 x - \frac{8}{9} \sqrt{x^3} \cdot \ln x + \frac{2}{3} \cdot \frac{8}{9} \cdot \sqrt{x^3} + C$$

$$6) \int \frac{x \cdot \cos x}{\sin^3 x} \, dx = \left[ u = x \Rightarrow du = dx \right. \\ \left. dv = \int \frac{\cos x}{\sin^3 x} \, dx = \left[ \sin x = t \right. \right. \\ \left. \left. \cos x \, dx = dt \right] \right. \\ \left. = \int \frac{dt}{t^3} = -\frac{1}{2} \cdot \frac{1}{t^2} = -\frac{1}{2} \cdot \frac{1}{\sin^2 x} \right]$$

$$= -\frac{x}{2} \cdot \frac{1}{\sin^2 x} + \frac{1}{2} \int \frac{1}{\sin^2 x} \, dx =$$

$$= -\frac{x}{2} \cdot \frac{1}{\sin^2 x} + \frac{1}{2} \cdot (-\cot x) + C$$

3HAK=!

$$7) \int x \arctg x \cdot dx = \left[ u = \arctg x \Rightarrow du = \frac{1}{1+x^2} \, dx \right. \\ \left. dv = dx \Rightarrow v = \int dx = x \right]$$

$$= x \cdot \arctg x - \int \frac{x}{1+x^2} \, dx = \left[ 1+x^2 = t \right. \\ \left. 2x \, dx = dt \right. \\ \left. x \, dx = \frac{1}{2} \, dt \right]$$

$$= x \cdot \arctg x - \frac{1}{2} \int \frac{dt}{t} = x \cdot \arctg x - \frac{1}{2} \ln |t| + C$$

$\frac{dx}{\sqrt{x^3}}$



$$x \cdot \operatorname{arctg} x - \frac{1}{2} \ln|1+x^2| + C$$

$$\textcircled{8} \int \frac{\arccos x}{\sqrt{1-x^2}^3} dx = \left. \begin{array}{l} \arccos x = t \\ -\frac{1}{\sqrt{1-x^2}} dx = dt \\ x = \cos t \end{array} \right\}$$

$$= \int \frac{t}{1-\cos^2 t} \cdot (-dt) = - \int \frac{t}{\sin^2 t} dt = \left. \begin{array}{l} u=t \Rightarrow du=dt \\ v = \int \frac{1}{\sin^2 t} dt = -\operatorname{ctg} t \end{array} \right\}$$

$$= - \left( -t \cdot \operatorname{ctg} t + \int \operatorname{ctg} t dt \right) =$$

$$= t \cdot \operatorname{ctg} t - \int \frac{\cos t}{\sin t} dt = \left. \begin{array}{l} \sin t = z \\ \cos t dt = dz \end{array} \right\} =$$

$$= t \cdot \operatorname{ctg} t - \int \frac{dz}{z} =$$

$$= t \cdot \operatorname{ctg} t - \ln|z| + C =$$

$$= \arccos x \cdot \operatorname{ctg}(\arccos x) - \ln|\sin(\arccos x)| + C$$

$$\textcircled{9} I = \int e^{ax} \cdot \sin bx \cdot dx = \left. \begin{array}{l} u = e^{ax} \Rightarrow du = a \cdot e^{ax} \cdot dx \\ v = \int \sin bx dx = -\frac{1}{b} \cdot \cos bx \end{array} \right\}$$

$$= -\frac{e^{ax}}{b} \cdot \frac{a}{b} \int e^{ax} \cdot \cos bx \cdot dx =$$

$$\left. \begin{array}{l} u = e^{ax} \Rightarrow du = a \cdot e^{ax} \cdot dx \\ v = \int \cos bx \cdot dx = \frac{1}{b} \sin bx \end{array} \right\}$$

$$v = \int \cos bx \cdot dx = \frac{1}{b} \sin bx$$



$$= -\frac{e^{ax}}{b} \cos bx + \frac{a}{b} \left( \frac{1}{b} e^{ax} \cdot \sin bx - \frac{a}{b} \int e^{ax} \cdot \underbrace{\sin bx \cdot dx}_I \right)$$

$$I = -\frac{e^{ax}}{b} \cos bx + \frac{a}{b^2} e^{ax} \sin bx - \frac{a^2}{b^2} \cdot I$$

$$\left(1 + \frac{a^2}{b^2}\right) \cdot I = e^{ax} \left( \frac{a}{b^2} \sin bx - \frac{1}{b} \cos bx \right)$$

$$\left( \frac{a^2 + b^2}{b^2} \cdot I \right) = e^{ax} \left( \frac{a \sin bx - b \cos bx}{b^2} \right) / b^2$$

$$I = \frac{a \sin bx - b \cos bx}{a^2 + b^2} \cdot e^{ax}$$

10  $I = \int \frac{dx}{(x^2+1)^2}$

$$J = \int \frac{dx}{(x^2+1)} = \left[ u = \frac{1}{x^2+1} \Rightarrow du = -\frac{2x}{(x^2+1)^2} \cdot dx \right]$$

$$dv = dx \Rightarrow v = \int dx = x$$

$$= \frac{x}{x^2+1} - 2 \int \frac{x^2}{(x^2+1)^2} dx =$$

$$= \frac{x}{x^2+1} + 2 \int \frac{x^2+1-1}{(x^2+1)^2} dx =$$

$$= \frac{x}{x^2+1} + 2 \underbrace{\int \frac{dx}{x^2+1}}_J - 2 \cdot \underbrace{\int \frac{dx}{(x^2+1)^2}}_I$$

$$\underline{I} = \frac{x}{x^2+1} + 2J - 2I$$



$$2I = \frac{x}{x^2+1} + J$$

$$I = \frac{1}{2} \cdot \frac{x}{x^2+1} + \frac{1}{2} \cdot \arctan x + C$$